A 3240
A ZEAY S LsHLBI I /LBHH)

Ehel: ICTo1 (&2l &)
SA -3 SASA) - MIRAY - B85 Ol &4 JIEH BlusZ
HELH 9,878,527 8,832,564 1,045,963

= 701,822 682,782 19,040

N 1,145,000 1,338,000 193,000

< 8,031,705 6,811,782 1,219,923

FEMY SHMA e (LSS /LHT) 9,806,348 8,763, 168 1,043,180
= 701,822 682,782 19,040

N 1,145,000 1,338,000 193,000

< 7,959,526 6,742,386 1,217,140

ICTOI& 931,849 455,949 475,900
CHOISAIRIDI B5 400,000 0 400,000
405 XHoHHE S 400,000 0 400,000
01 IR =SS FH SHI 400,000 0 400,000
OCHIs ARI1DI 23 400,000 0 400,000
HIANRE 2ZEQN ES 276,900 201,000 75,900
201 etz 276,900 201,000 75,900
01 At 2t2lH| 276,900 201,000 75,900
OHFIMPE LAZENH & 276,900 201,000 75,900
SXa el =8 1,819,984 1,549,264 270,720
= 405,448 386,408 19,040

S 1,414,536 1,162,856 251,680

SR He #Adst =& 683,700 533,700 150,000
207 A 1OH | 370,000 270,000 100,000
02 M AR 370,000 270,000 100,000
OAAZ0l 2HHL S HIOIXI X 0 270,000 270,000
OZHg - 2240 SELEE 2= 270,000 0 270,000
ORZHgas 2= &9 2 =Y - M 100,000 0 100,000

405 XHatE S 50,000 0 50,000
01 TR =S FH SHI 50,000 0 50,000
OZHg AEE M &Y 50,000 0 50,000
FESHA BRI N (=1) 186,486 148,406 38,080
= 93,243 74,203 19,040

= 93,243 74,203 19,040

301 LB ez 183,486 145,406 38,080
= 91,743 72,703 19,040

S 91,743 72,703 19,040

01 At 28X =5l= 180,786 142,706 38,080
OFESAEXI|I 0K 180,786 142,706 38,080

= 90,393 71,353 19,040

= 90,393 71,353 19,040

CIEUSS MY (BT ESTESRAXY) 82,640 0 82,640
201 etz 2,000 0 2,000
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SA: BEAY
Hu: HPA
=E ]

S SHMH LsHLPIIHT/LBHEH)

ol AEER £ (e dE)

SN B ERI(B) - MSAY - BeS 0l &t p[EL" HIRE2
01 MAR=SFH=HI 97,000 0 97,000
O&XZM AAE MEEHX S4 38,000 0 38,000
OlPstor 240l A S4H 59,000 0 59,000
ABESD|E 2= 687,860 608,000 79,860
SRS FSPADNEE PSR B 687,860 608,000 79,860
405 KHobE SHI 339,860 260,000 79,860
01 JAtR ESFSHI 339,860 260,000 79,860
OS MY A 2SSEEI(WN) =F WX 79,860 0 79,860
dESADIEt 25 3,515,461 3,717,761 A202,300
Xl 1,145,000 1,338,000 A 193,000
T 2,370,461 2,379,761 A9,300
CCIVEEZMHE RS X2 (21) 1,259,500 1,471,800 A212,300
Xl 1,145,000 1,338,000 A 193,000
< 114,500 133,800 A 19,300
403 XIS S AHE01 A 1,259,500 1,471,800 2212,300
Xl 1,145,000 1,338,000 A193,000
< 114,500 133,800 A 19,300
01 AXISHMA=2EE 1,259,500 1,471,800 A212,300
ocCCTvser 2Ny +=5 K& 1,259,500 1,471,800 A212,300
Xl 1,145,000 1,338,000 A 193,000
< 114,500 133,800 A 19,300
MIOHED| Sl 23 HRFA 10,000 0 10,000
202 044l 10,000 0 10,000
01 =L YI 10,000 0 10,000
QRIAHR =& ¢l 10,000 0 10,000
HY I A (HB AL D) (IIEHDIE 69,936 69,396 540
Jl=ZHl 69,936 69,396 540
PHM2E JI=23| 69,936 69,396 540
203 R F&H] 4,980 4,440 540
04 RN2ILRFAH 4,980 4,440 540
©309! =1 (43H) 4,980 4,440 540
Hees(F2adn) (I3l /LBHH) 2,243 0 2,243
ISRSPNE= 2,243 0 2,243
UBIHFEE I NEXF et 2,243 0 2,243
802 BtEt3 DI Et 2,243 0 2,243
01 2 NEXZSEES 2,240 0 2,240
©'1549 HEAX HAAS 2,006 0 2,006
O'158 NYHZIZSSZTEAAE XNRAAZ 234 0 234
BuUd3S 3 0 3
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